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1 (104). SRR (1) = (acost, bsint),a > b > 0,11l %

2 (2050=10410). TCRSHF A A O I B IR THT s, Br(s) AL T-82 R 3l
SHUER. Sa(s) = r(s), b(s) = £(s), c(s) = r(s) Ai(s), BABA(s) = (b(s), e(s))-

(1) HSEARA {a(s), b(s), o(s) }IRIEBNITFL, B BA{a(s), b(s), c(s) } 7R {a(s), b(s), &(s)}-
(2) T3 (s) 1 M Rk (s) HHEERT(s) (FH BB (s) R FKTR).

3 (104). KRififEir(z,y) = (z,y, f(z,y)) B —HATLRME ZHATL A

4 (304+=10410+410).
(1) WHHr(u,v) B —EAB XS E ZHEARE 00 A

I = Edudu + 2Fdudv + Gdvdv, 11 = Ldudu + 2Mdudv + Ndvdv.

HESHE- PR SEEMEXTE F,G, L, M, NIFRIER.
(2) THE M (u, v) = (ucosv, usin v, 2v) KI5 il 2 5w T 2.
(3) FIWTHIERH #iHr (u, v) = (ucosv, usinv, 20) R B ANELH? £E VW REITE?

5 (304r=10+10+10) B CH IS L —2% E N/ HiZk. ﬁD%CE%,ﬁﬂﬁtﬂ@%ﬂ%fﬁiE
f— 277 18, JUFRC A — 3K il R 28

wen

(2) BC(s) 9 IS — A S 0B B 2R 28, RO (s) L& s b i T kA PR EL
SLTH] (1E JU) 56 43 ) B v 40 it 6.

(3) B C(s) TS _E— 23 S5t th K 28, I BLC(s) L& RACHI R M R b5 i
HIAE % 5 ) BN E A U IR . C (s) R A A — 2% T T i 2R



